H & 0l & AHS B Ml A

A S
B FoE KN
CHell HAS U FHOHE /ALY (ol m2)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
M S A} 116,432,996 98,285,917 18,147,079
= 92,923,618
s 112,725
Al 17,005,961
- 6,390,692
FHAANES XA 3,312,090 3,163,592 148,498
= 2,428,400
Al 541,010
- 342,680
HAS Y FHAHES KN2AY 3,297,990 3,160,592 137,398
= 2,421,600
Al 538,690
- 337,700
FAr=1==IN 3,027,000 2,777,738 249,262
= 2,421,600
Al 302,700
- 302,700
307 212+01 ™ 3,027,000 2,777,738 249,262
= 2,421,600
Al 302,700
- 302,700
01 22 & 3=H| 3,027,000 2,777,738 249,262
OFI=EN 3,027,000
= 2,421,600
Al 302,700
- 302,700
A JIZEENE ALY 11,000 97,000 A86,000
Al 11,000
301 LB F 11,000 97,000 A86,000
Al 11,000
02 MBI EZASHS(HUAS, XLTHA) 11,000 97,000 A86,000
OR4M™ JIIZ2ENE MAHAZH 11,000
Al 11,000
MASF0 A2A88s X2 35,000 35,000
301 LPBNZ 35,000 35,000
02 MBI EERGS(HAUAS, XLTHEA) 35,000 35,000
OMASEF0 HLBEE XA 35,000
MASZF0 AHISEXI2 (2SO=Y]) 55,000 76,000 21,000
Al 55,000
301 LetENEZ 55,000 76,000 A21,000
Al 55,000
02 MBI 2EAH S (HUAHS, NSTHA) 55,000 76,000 21,000
OMAEZ0 S| 55,000
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A HEE2EY
B FoE K
o2l ==X MHA S (Cre|: ®M2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
- 3,480
301 LEHBEF 11,600 0 11,600
= 5,800
Al 2,320
- 3,480
01 A BE X2 (R REETHA) 11,600 0 11,600
OOlAH| XI&AHS 11,600
= 5,800
Al 2,320
- 3,480
MASES HEXOl ME T|J 76,182,875 64,871,680 11,311,19%
= 68,414,114
s 21,49%
Al 5,3%4,817
- 2,352,449
HASE KX AL 6,369,322 6,344,824 24,498
= 5,599,730
s 21,495
Al 524,147
- 223,950
HEZZALY 4,297,448 4,292,419 5,029
= 3,867,923
Al 300,843
- 128,682
301 LetEEZ 4,297,448 4,292,419 5,029
= 3,867,923
Al 300,843
- 128,682
01 ABIBEXHZ2(2DEXTHA) 4,297,448 4,292,419 5,029
OXE2ZAIY 4,297,448
= 3,867,923
Al 300,843
- 128,682
NG Aadg X 371,957 377,535 25,578
= 260,370
Al 78,116
- 33,471
307 2Iz2+0l™ 371,957 377,535 Ab,578
= 260,370
Al 78,116
- 33,471
10 AlZISXAEHE2EHIEX 371,957 377,535 25,578
OXTtedly X3 371,957




A S
B HASSO OHEXOl MF K
el MASE XA (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 260,370
Al 78,116
- 33,471
KN x2dly MaAsKsg 37,600 37,450 150
Al 26,620
- 10,980
307 2I2+01A 37,600 37,450 150
Al 26,620
- 10,980
10 Al SXAEHE2EHIEX 37,600 37,450 150
OXg ey MA=XE 37,600
Al 26,620
- 10,980
KHEFALE 22| AL 30,707 30,707 0
= 21,495
Al 6,449
- 2,763
307 QI2Hol ™ 30,707 30,707 0
= 21,495
Al 6,449
- 2,763
10 Al SXAEHE2EHIEX 30,707 30,707 0
OXHEAtd2te | At 30,707
s 21,49%
Al 6,449
- 2,763
2esdJUersS M= NE 1,631,610 1,606,713 24,897
= 1,471,437
Al 112,119
- 48,054
307 212+01 A 1,631,610 1,606,713 24,897
= 1,471,437
Al 112,119
- 48,054
11 AR SXAMEE R 1,631,610 1,606,713 24,897
O2ZsgUesr2 N2 XE 1,631,610
= 1,471,437
Al 112,119
- 48,054
IO | =M B >Z X X3 69,813,553 58,526,856 11,286,697
= 62,814,384
Al 4,870,670
- 2,128,499




SN MBI
Ho: HASZO| OHEOl ME XH
el [DIZYEL2E SN N3 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
&A= 49,380,000 39,500,000 9,880,000
= 44,442,000
Al 3,456,600
- 1,481,400
301 2eEN= 49,380,000 39,500,000 9,880,000
= 44,442,000
Al 3,456,600
- 1,481,400
01 Al EEHS(FRDEXMH) 49,380,000 39,500,000 9,880,000
OdA=H (L3 49,380,000
= 44,442,000
Al 3,456,600
- 1,481,400
MEsy= 38,006 34,700 3,306
308 XM SOIE 38,006 34,700 3,306
08 w=J |20 2 X 38,006 34,700 3,306
Ouss0(Let+=31) 38,006
[ENESPNII=10 300,000 300,000 0
= 270,000
Al 21,000
- 9,000
301 22N 300,000 300,000 0
= 270,000
Al 21,000
- 9,000
01 Al EE AL S(FRDEXMA) 300,000 300,000 0
O I pSHN[F=10 300,000
= 270,000
Al 21,000
- 9,000
SHAZ RSO (AIE) 48,000 22,000 26,000
= 43,200
Al 4,800
301 22N 48,000 22,000 26,000
= 43,200
Al 4,800
01 AR 2EHSHS(RNEXRTH) 48,000 22,000 26,000
OMMEHMSAH(AIE) 48,000
= 43,200
Al 4,800
RSS2 210,000 185,000 25,000
= 210,000
307 lztol & 210,000 185,000 25,000




SN MBI
B HASSO OHENOl MF K
o9l RODIZMBEILZT X (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 210,000
11 AMEISXAEEXS 210,000 185,000 25,000
OEFLRXNZ A 210,000
= 210,000
FHSN 19,832,427 18,477,556 1,354,871
= 17,849,184
Al 1,388,270
T 594,973
301 EtE NS 19,292,694 18,003,742 1,288,952
= 17,363,424
Al 1,350,489
- 578,781
01 AR 2EHSHS(RDNEXRTHE) 19,292,694 18,003,742 1,288,952
FAHAS0(Let+=3 A 19,292,694
= 17,363,424
Al 1,350,489
- 578,781
403 TR M SAH=01 ™ 539,733 473,814 65,919
= 485,760
Al 37,781
- 16,192
02 SO 2SOt stA=2 & 2 €A H] 539,733 473,814 65,919
O=ESXNSH(LEH=3I) 539,733
= 485,760
Al 37,781
- 16,192
S EAMESE 920 3,400 2,480
201 2= 920 3,400 2,480
2 S22l 920 1,600 2680
OSSXAIXIE2EH] 600
-KNHSIHA 100
-AHE = A2l 500
OsEXE 28= 320
=37 dE2EA2s 2E 4,200 4,200
201 =3 4,200 4,200
01 At22t2l] 4,200 4,200
O3 H22HAYE 3o 4 =2 (U
o) 100,000 6 & =22 1,200
O3 L2 3o A4 =2 (M
2) 50,0002 6 *102] 3,000
Zohelel &t & ghat 36,698,270 29,988,968 6,709,302
= 22,081,104
Al 11,047,327




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 3,569,839
ZoHe S 36,698,270 29,988,968 6,709,302
= 22,081,104
Al 11,047,327
- 3,569,839
HHS(HOoH) 260,000 260,000 0
= 234,000
Al 26,000
301 EtE NS 260,000 260,000 0
= 234,000
Al 26,000
01 Al EE A S(FRDEXH) 260,000 260,000 0
OZMAANFAIE HHSAH 260,000
= 234,000
Al 26,000
HOHAAFAIE 2ERA(EX) 2,915,694 2,8%,300 19,3%
= 2,040,985
Al 874,709
307 el2tol & 2,915,694 2,896,300 19,3%
= 2,040,985
Al 874,709
10 Al SXAZEE 22X 2,915,694 2,8%,300 19,3%
OZOAANFAIE MBI 2,794,725
= 1,928,307
Al 826,418
OO ANFAIE 2el2Et| 160,969
= 112,678
Al 48,291
ZOHRIAS=AIE AIHIXIZ 82,900 80,320 2,580
Al 82,900
307 elztol & 82,900 80,320 2,580
Al 82,900
10 AlRISXAZEE 22X 82,900 80,320 2,580
OZUMANFAIE S+22E 72,000
Al 72,000
OZOANFAIE SAHA SXEIE 6,000
Al 6,000
OZOHANFAIE 2EHl S FIHAIA(2HA
HIZEH) 1,900
Al 1,900
O AFAIE L 2SH| 3,000
Al 3,000
oSS HEIE 2SN 145,899 134,355 11,544




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 145,899
307 gl2tol & 145,899 134,355 11,544
Al 145,899
10 Al SXAEEHE2EHI 22X 145,899 134,355 11,544
OHMl=S8EIE 22| 121,699
Al 121,699
O SSHEIE 228 24,000
Al 24,000
O SSHEINE SANEUE 200
Al 200
O HTHEAE 2SN 1,147,025 1,053,750 93,275
Al 1,082,324
- 114,701
307 212+01& 1,147,025 1,063,750 93,275
Al 1,032,324
- 114,701
10 AlRISTIAIEEE 22X 1,147,025 1,053,750 93,275
OYHAXNATHEAE 2c|2E ] 58,436
Al 52,593
- 5,843
OZMAXHMEAE SXLAE 1,700
Al 1,530
- 170
OZ22HYYRL 22528 29 N 70,000
Al 63,000
- 7,000
OHOHAXNHMHEAE HAQ A 959,978
Al 863,981
- 95,997
OZOHAXBIHEAIE HIHS0H! SAH 5,911
Al 51,220
- 5,691
ZOHAMATHEAIE JISE2SAY 73,790 0 73,790
= 36,895
Al 36,89%
402 QI”F X201 & 73,790 0 73,790
= 36,895
Al 36,89
02 QI A2 AL E R (0IETHE) 73,790 0 73,790
OZAXEMHEAE JISEZAE XA 73,790
= 36,895
Al 36,895
ol =i 2SN 1,120,817 1,097,550 23,267
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SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
FOUd2IEds A 2,000 2,000
307 elztol & 2,000 2,000
11 AMEISXAIEEXE 2,000 2,000
O=0uad=gedst N3 2,000
ST NSHSHHAA 160,830 188,533 2,297
= 64,332
Al 96,498
307 @12t0| & 160,830 158,533 2,297
= 64,332
Al 96,498
10 Al2ISTIAIEEE 22X 160,830 168,533 2,297
OSSN HEHE X2 160,830
= 64,332
Al 96,498
SSYQ NHHYSME AlH FIOHHA 30,000 30,000 0
Al 30,000
307 212+01& 30,000 30,000 0
Al 30,000
10 AlISXAEEE 22X 30,000 30,000 0
OSEsHMe ANEHEHH Algl =IHKE 30,000
Al 30,000
0 EX010] W 16,462 15,000 1,462
= 13,170
- 3,292
301 EtE2 NS 16,462 15,000 1,462
= 13,170
- 3,292
01 Al 2E AL S(FRNEXME) 16,462 15,000 1,462
OFMHAZ DI WFAY 16,462
= 13,170
- 3,292
ZOHel X017 =clAt 134,622 137,400 N2,778
Al 134,622
307 212+01& 134,622 137,400 N2,778
Al 134,622
1 AMEISXAIEEXS 134,622 137,400 N2,778
OZOHASEID] s=2lAt X 134,622
Al 134,622
ZoHe! XIFHel 22 A4S At X 28,375 28,375 0
Al 28,375
307 212+01& 28,375 28,375 0
Al 28,375




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 28,375 28,375 0
OO XFHO 22 HHE ALY K& 28,375
Al 28,375
O =EXIALY AtalEHIZS &8s X 13,000 13,000 0
307 glztol & 13,000 13,000
02 LB HAHE L 13,000 13,000
OO S2es Al XI& 13,000
Zojel EsXAS0 XJA(EX) 16,202,216 12,232,756 2,969,460
= 10,641,551
Al 2,280,333
T 2,280,332
307 lztol & 16,202,216 12,232,756 2,969,460
= 10,641,551
Al 2,280,333
- 2,280,332
11 AMRISXAEEES 16,202,216 12,232,756 2,969,460
O s XA 16,202,216
= 10,641,551
Al 2,280,333
- 2,280,332
Zoje! 2sXES0 X OHE0) 366,297 85,679 280,618
= 256,408
Al 109,889
307 glztol & 366,297 85,679 280,618
= 256,408
Al 109,889
11 AMEISXAEEXS 366,297 85,679 280,618
Ol 2SXAS0 X (OHHS0) 366,297
= 256,408
Al 109,889
NS KIJAIE AlHIZIL 428,022 428,022 0
Al 385,220
- 42,802
307 212+01& 428,022 428,022 0
Al 385,220
T 42,802
11 MEISXAIEEE 428,022 428,022 0
OIS XA AlGIF=IL 428,022
Al 385,220
- 42,802
ZoHRIE s KIHAIY MoARARSY 3,600 3,600
201 ger=3| 3,600 3,600 0

_11_




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 3,600 3,600 0
OFUHIZSNY Mol 42
100,000 x3& %123 3,600
LLTHEMEIA B2 X 908,681 798,147 110,534
= 636,077
Al 136,302
- 136,302
307 elztol & 908,681 798,147 110,534
= 636,077
Al 136,302
- 136,302
11 AMEISXAEEE 908,681 798,147 110,534
OggMaAtlA 908,681
= 636,077
Al 136,302
- 136,302
AHLEXE H=RH K& 4,200 4,200 0
= 2,940
Al 1,260
307 elztol & 4,200 4,200 0
= 2,940
Al 1,260
1 AMISXAIEEXS 4,200 4,200 0
ouoegaxd 4,200
= 2,940
Al 1,260
LEHY F2AEANZ 8,173 4,000 4,173
= 5,720
Al 2,453
307 glztol & 8,173 4,000 4,173
= 5,720
Al 2,453
11 AMEISXAIEEXS 8,173 4,000 4,173
Ogadie FRAc|dE 8,173
= 5,720
Al 2,453
22T FHESAHEIAXE 1,060, 189 550,974 509,215
= 742,132
Al 159,029
- 169,028
307 @20l & 1,060, 189 550,974 509,215
= 742,132
Al 159,029
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SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,775 1,175 600
OZ A=K BEXl S 28 M 975
OFAtelet B2 DA 2EE SF A 200
OIS B2 &I Mg S8
=3 & 600
elg=s 20 Xs 6,616,273 5,640,691 975,582
= 4,631,391
Al 1,984,882
301 EtE NS 6,616,273 5,640,691 975,582
= 4,631,391
Al 1,984,882
01 Al EE AT S (2 DEXMA) 6,616,273 5,640,691 975,582
OFeIgs 20 N2 6,616,273
= 4,631,391
Al 1,984,882
=== (01=) X2 1,379,171 750,680 628,491
= 965,419
Al 289,627
- 124,125
301 eEetE2 N = 1,379,171 750,680 628,491
= 965,419
Al 289,627
- 124,125
01 Al EE AT S (2 DEXMA) 1,379,171 750,680 628,491
OFM==0Ix) X2 1,379,171
= 965,419
Al 289,627
T 124,125
Ho==E(XaRIE) XS 585,885 448,683 137,202
= 410,119
Al 123,036
T 52,730
301 EtE NS 585,885 448,683 137,202
= 410,119
Al 123,036
- 52,730
01 AR 2EHSHS(RDNEXRTHE) 585,885 448,683 137,202
OZM=E(MHYAS) XS 585,885
= 410,119
Al 123,036
- 52,730
ZoHe! He== 205,200 162,696 42,504
Al 205,200
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